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CJ HNEE 2eiuz ot
] HeAEC 0282000 2978 | 3,484 17.0 | 1,489 | 1,742
45 A HEHY 22 100%3 0] 105
S E &% E(200g) 3,208 | 3,353 45| 1,604 | 1,677
CHAN MY AOHS EHY 5129
L= a5ai(50g) 2390 | 2,613 9 460 502
! 6.0
CJ ®a #28 ol =% &5 2632 | 2,709 3 479 493
=5t3H(55Q) ' '
== Q| £52(100g) 4,636 | 4,781 3.1 | 4636 | 4,781 3.1
=08 o4 Ot T3(3509) | 5617 | 6,034 7.4 | 1,605 | 1,724
A CJ O s & 2:5
. 81225 E00g2) 7,269 | 6,979 -4 | 1,212 | 1,163
N CJ HEH210g*1IHL) 1,479 | 1,576 6.5 | 1,479 | 1,576
oW | st 2% XU= 3,610 | 3,487 | -3.4 | 1,203 | 1,162 o
QEJ|EH210g*3TH L) ' : : ’ ’
Q0| DABH ZIIZ(160ml) 5,303 | 5,540 45| 3,314 | 3,463
2|2 1.2
CJ ¥ st =I|Z(160ml) 5313 | 5,206 -2 | 3,321 | 3,254
SAl AIRHB (12004570 2)) 3,508 | 3,549 1.2 702 710
2t AFOERLEI(120g%5TH L) 3,334 | 3,353 0.6 667 671 08
Q)| xegta
= 519(120g75012)) 2,825 | 2,842 0.6 565 568
CJ HES AFHE BE(170g) 1,438 | 1,321 -8.1 846 777
ad CHef HRR =3 gEs= 12
AEH2000) 1,438 | 1,196 | -16.8 719 598
SHEA IEE FEHT
- 1,284 | 1,445 12.5 467 525
HI ] =20/ 2HEl(275ml) -8
SA %Al EIQT DIAEZMHI(QR75mI) | 1,347 | 1,393 3.4 490 507
. X2 #0l=24(360ml) 1,295 | 1,366 5.5 360 379 ;
AZ 5
ROZ=2 ®MSH2(360ml) 1,301 | 1,363 4.8 361 379
. QH| A S|4 (355mI*62H) 8,952 | 9,567 6.9 | 1,492 | 1,504
SE' | oz 4.4
o X2 50| (355mIx67H) 8,915 | 9,105 21| 1,486 | 1,518
S AL (2L) 981 | 1,047 6.7 491 524
WES SAl BHARA(2L) 945 965 2.1 473 483 3.8
SHEA 0Ll AIA(2L) 723 737 1.9 362 369
SOEA =AAOICHI.8L) 2,507 | 2,550 1.7 | 1,393 | 1,417
AOI CH -0.6
222t ATH0IE(1.8L) 2,371 | 2,311 25| 1,581 | 1,540
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B Al 2 A AMZ0IH A (100g) 617 715 16 617 715 | 16.0
CHOF | 2WAF SHTF 1EH(5009~800g) | 2,526 | 2,682 6.2 | 2,526 | 2,682 6.2
ADI | 2UA 4D EA 1S2(100g) | 9,798 | 9,840 0.4 | 9,798 | 9,840 0.4
<3 =Ud 23U S p) 2,631 46 | 2,758 | 2,631 4.6
21 124(1,5000) 798 12, : ’ ’ :
ots 2HAH 2HOFS (100Q) 1,189 | 1,107 | -6.9 | 1,189 | 1,107 | -6.9
THA-
gg == IUHA WX LS EY2(100g) 412 383 -7 412 383 | -7.0
2 1 = ZUAF = AHE(100g) 1218 | 1121 | 79| 1218 | 1121 | -7.9
Z)x 2L AFE D Z(100g) 1254 | 1,148 | -85 | 1,254 | 1,148 | -85
XDl | 2UHAH XD AR AN(100g) | 2,845 | 2,531 11 | 2,845 | 2,531 | -11.0
20| WAL BICHCED| Q0] 574 3,651 | 3,160 | -13.4 | 3,651 | 3,160 | -13.4
D3RO0 | 2HA ZEQE 2D R0HI00g) 694 597 -14 694 597 | —14.0
7ol 2 A W2 (10g) 195 163 | -16.6 195 163 | -16.6
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2) (B-A) /A x 100 (%)
3) BIHISHY), 201G, YTHILY), WA-AZ(10gD), SALH2HH-HUZ(1IHG), M2-AOICHILE), 1 2 Z2(100gY
E= 100mY)
4) (D-C)/ C x 100 (%)



